=~ 00 00~ NNDNWNK-

1 1) —(PA-Q) &It
2 (2) P H
3 3) —-Q H
2,3 4) PA-Q 2,3N-E
123 (5) L 2,4 --E
1,2 (6) —-—Q 3-5 -1
1,2 (M @ 3-5DN-E
1 8 P—-Q 2-7—-1
(1) PvQ [ElIE7]
(2) P H
(3) -PA-Q H
(4) -P 3AN-E
3 (5 1 3,4—--E
3 (6) -(=PA-Q) 3-5--1
M Q I
(8) —-PA-Q H
9) -Q SA-E
8 (10) L 7,9 -E
(11) —|(—|P A —|Q) 8-10 =1
(12) =~(-PA-Q) 1,2-6,7-11V-E
1) -PvQ §ig
(2) P H
(3) -P H
4)  -Q H
2,3 (5) 1 2,3—-E
2,3 (6) =0 3-5 -1
2,3 (M) Q 6,DN
8 P—-Q H
© H
10 (10) P H
9,10 (11) QAP 9,10 A-1
9,10 (12) Q@ 11A-E
(12) P—-Q 10-12—-1
(13) P—-Q 1,3-89-12,V-E
1 (1) -P [ElIE 7%
2 (2) P H
3 3) -Q H
1,2 (4 L 1,2--E
1,2 (5) —--Q 3-4--1
1,2 (6) Q 5DN
1 () P—>Q 261



11.

12.

13.

—_
NN AN N N N N N N AN N

1,3
2,3
1,2,3
1,2

1) -P AiHE

2) PvQ  HiE

3 -Q H

4 P H

5 L1 3-4 -1

6) -—Q 5DN

N Q 6 DN

8 Q H

9) QA-P 18A-

10) Q IN-E

1) Q 2,4-7,8-10 V-E
P AT
QV-Q b
Q H
PAQ 1,3 A-1
(PAQ)V(PA-Q) 4V-I
-Q H
PA-Q 1,6 A-I

(PAQ)V(PA-Q) T7V-I
(PANQ)V(PA-Q) 1,3-5,6-8V-E

P A2
-(PAQ) HitE

Q 3DN
PAQ 1,4 N-1
1 2,5 --E
Q) 1,6 A-T
-Q 7DN
P=Q HitE
P—-Q HitE

P H

Q 1,3 —>-E
-Q 2,3 —-E
1 45—E
—|P 3-6 _|-I



